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Subject code: 320010                                    Date: 11/01/2012 

Subject Name: Theory of Machine & Strength of Material  
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Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered Authentic. 

 

SECTION –I (35 Marks) (English Version) 
 

Q-1 (a) Define the following terms. 

(1) Shear stress    (2) Angle of twist    (3) Thermal stress   (4) Poisson’s Ratio 

4 

   

       (b) Explain various types of springs with neat sketch. 3 

   

Q-2 (a) A steel rod of 10 mm diameter and 1.2 m long is subjected to an axial Tensile Force of 

120 kN along its length. Calculate change in length and diameter of steel bar. 

Use Modulus of Elasticity (E) = 2 x 105 N/mm2 and Poisson’s Ratio(1/m) = 0.3 

7 

   

       (b) Calculate S.F. & B.M. and draw S.F. and B.M. diagrams for a beam shown in Fig:1 7 

 OR  

Q-2 (a) Find out the change in length  of different parts of steel rod of 20mm diameter as shown 

in Fig: 2 

7 

   

       (b) Calculate S.F. & B.M. and draw S.F. and B.M. diagrams for a beam shown in Fig: 3 7 

   

Q-3 (a) A simply supported beam of 200 mm width, 300 mm depth and 5.0 m long is subjected 

central point load of 120 kN. Calculate maximum bending stress induced in a given 

beam. 

7 

   

       (b) Calculate power in kW that can be transmitted by a solid shaft of  40 mm diameter 

rotating at a speed of 200 rpm if safe shear stress is 85 N/mm
2
 . 

7 

 OR  

Q-3 (a) A cantilever beam having width 150 mm, depth 300 mm of 1.5m long is subjected to a 

uniformly distributed load of 30 kN/m over entire span of beam. Calculate maximum 

slope and deflection of a given beam. 

7 

   

       (b) Six number of plates 1.2 m  long  and 50mm x 10 mm in section form a laminated spring 

to carry a central point load of 3.0 kN. Find the stress developed in a spring.   

7 

 

 

 



SECTION –I (35 Marks) (Gujarati Version) 
 

Q-1 (a) િનચે આપેલાની �યા
યા આપો 

(૧) કત�ન �િતબળ  (૨) મરોડ કોણ   (૩) તાપમાન �િતબળ  (૪) પોઈશનનો !ણો"રુ  

4 

       (b) અલગ અલગ �કારની &'�(ગ આ)િત સાથે સમ,વો 3 

Q-2 (a) 10 mm �યાસ અને 1.2 m લાબંા 'ટ0લના સ1ળયા ઉપર 120 kN નો અ3ીય તાણભાર લાગે 

છે. 'ટ0લના સ1ળયાની લબંાઇ તેમજ �યાસમા ં થતો ફરફાર શોધો; . &'થિત'થાપ<તા 

માપાકં=2 x 105 N/mm
2 તેમજ પોઈશનનો !ણો"રુ =0.3 નો ઉપયોગ કરો. 

7 

       (b) આ)િત : ૧ મા ંદશા�વેલ પાટડા માટ ; S.F. અને B.M. ડાયા@ામ દોરો. 7 

 
����  

Q-2 (a) આ)િત: ૨ મા ં દશા�વેલ 20 mm �યાસવાળા 'ટ0લના સળ0યાના Aદા Aદા ભાગની ુ ુ

લબંાઇમા ંથતો ફરફાર શોધો; . 

7 

       (b) આ)િત : ૩ મા ંદશા�વેલ પાટડા માટ ; S.F. અને B.M. ડાયા@ામ દોરો. 7 

Q-3 (a) 200 mm પહોળા, 300 mm ,ડા અને 5.0 m લાબંા સાદ0 ર0તે ટકવેલા પાટડા ઉપર ; 120 kN 

મCય'થ 1બDEભાર લાગે છેુ . તો પાટડા મા ંપેદા થF મહ"મુ  બેGડHગ  'Iસની JકDમત શોધો; . 

7 

       (b) 40 mm �યાસવાળ0 200 rpm ની ઝડપે ફરતી એક નMર શાNટ કટલા Jક; .વૉટ પાવર 

IાGસમીટ કર તે શોધો; . જો સલામત કત�ન �િતબળ 85 N/mm
2 હોય. 

7 

 
����  

Q-3 (a) 150 mm પહોળા, 300 mm ,ડા અને 1.5 m લાબંા કGટ0લીQ વર બીમના સમ@ ગાળા ઉપર 

30 kN/m નો સમિવતર0ત ભાર લાગે છે. બીમ માટ મહ"મ;  ઢાળ અને િવચલન શોધો. 

7 

       (b) 50 mm x 10 mm નો આડછેદ અને 1.2 m લબંાઇ ધરાવતી   6 નગં Sલટેો વડ એક ;

લેમીનેટડ &'�(ગની રચના કરલ છે; ; . તેના મCયમા ં3.0 kN નો 1બDEભાર લાગે છેુ .  &'�(ગમા ં

પેદા થતા નમન �િતબળની JકDમત શોધો. 

7 

 

 

 

 

 

 

 

 

                   Figure: 1   Q-2(b)                Figure: 2   Q-2(a) 

 

 

 

 

 

 

 

                                                            Figure: 3  Q-2(b) OR 
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SECTION –II (35 Marks) (English Version) 

 
Question 1  (a)  List the various inversions of a single slider crank mechanism & explain                      

                         Anyone with sketch.                                                                                           (4) 

                    (b) Draw & explain Klein’s construction for determining the velocity & 

                          Acceleration of the links in a single slider crank mechanism                            (6) 

Question:2   (a)  Derive an expression for frictional torque in a flat pivot bearing                      

                           Considering  uniform pressure condition.                                                         (6)    

(b) A pulley is driven by a flat belt running at a speed of 600 m/minute.  

The coefficient of friction is 0.30 &angle of lap is 165
0
. If the maximum  

tension in the belt is 700N. Find the power transmitted by belt.                      (4) 

(c)  Draw &  explain the working principle of single plate clutch.                         (4) 

 

Question:2                                                               0R              

                   (a)   Derive an expression for tension ratio on two sides of the flat belt drive.         (6)       

                   (b)   A vertical shaft 150mm in diameter rotating at 100rpm rests on a flat end pivot  

                             Bearing. The shaft carries a vertical load of 20KN. Assuming  uniform         (4) 

                            Pressure condition &coefficient of friction equal to 0.05 estimate power   

                             Lost in friction. 

                     (c)  List the various types of gear trains and explain anyone with neat sketch.       (4)                   

 

Question;3   (a)  Explain with neat sketches the different types of cams &followers                   (4) 

                     (b) The turning moment diagram for a multicylinder engine has been drawn  

                          To a scale 1mm=600Nm vertically and 1mm=3 horizontally. The intercepted                 

                            Areas between the output curve and the mean resistance line taken in order                   

                          From  one end are as follows, 

                         +52,-124,+92,-140.+85,-72,and+107mm   When the engine is running at a                 

                         Speed of 600 rpm.If the total fluctuation of speed is not to exceed +1.5  of the  

                            Mean find necessary  mass of the flywheel of 0.5m radius.                             (7) 

                                                                         OR 

Question;3     (a) Differentiate between flywheel &governor.                                                      (4) 

                       (b) A cam is to give following motion to a knife edge follower             (7) 

                             (1) outstroke during 60 degree of cam rotation. 

                             (2) Dwell for next 30 degree of rotation. 

                             (3) Return stroke during next 60 degree of cam rotation. 

                             (4) Dwell for the remaining 210  degree of cam rotation. 

                                The stroke of the follower is 40mm and minimum radius of the cam   is      

      50mm.The follower moves with uniform velocity  during both the outstroke &return stroke. 

      Draw the profile of the cam when the axis of the follower passes through the axis of the     

     camshaft.                                                                                                                                               

 

SECTION –II (35 Marks) (Gujarati Version) 

�T-1 (અ) િસDગલ 'લાઇડર WGક િમકનીઝમના ઇનવઝ�ન નીQ ;  યાદ0 બનાવી તેઓ પૈક0 ગમે તે એક   (4) 

              આZિત દોર0 સમ,વો. 
  
       (બ) િસDગલ 'લાઇડર WQGક િમકનીઝમની 1લDકોના વેગ; -�વેગ શોધવા [<લ(સ ની રચના        (6) 

              આ)િત દોર0 સમ,વો. 

 �T-2 (અ)  એક સરખા દબાણવાળ0 &'થિત ધાર0ને ફલેટ િપવોટ બેરHગના ઘષ�ણ  `ણૂ� માટન;         (6)    



                સમીકરણ સા1બત કરો. 

            (બ)  એક bલી ફલેટ બેcટ વડ ુ ; ૭00 મીટર/મીનીટ ની ઝડપે ફરછે; .ઘષ�ણાકં ૦.૦૩ 

                અને બેcટનો લેપ hગલ ૧૬૫ છે.જો મહ"મ તાણબળ ૯૦૦N હોયતો બેcટ  

              Cવારા થF ંશ&<ત સચંારણુ (પાવર) શોધો                                                 (4) 
 

          (ક)'વmછ આ)િત દોર0 િસDગલ Sલેટ ઘષ�ણ <લચn ં કાય� સમ,વોુ .                      (4) 

                                          અથવા 

 �T-2 (અ)ફલેટ બેcટની બoે બાAએ લાગતા ં તાણબળના ં!ણો"રn ંસમીકરણ સા1બત કરોુ ુ ુ .   (6) 

         (બ)એક 150 મીમી �યાસવાળ0 અને 100 rટા/મીનીટ એ ફરતી ઉભી શાફટ  Nલેટ 

              પીવોટ બેરHગ મા ંબેસાડલી છે; .શાNટ 20KN નો ઉભો ભાર ધરાવે છે. એક સરખા     

               દબાણવાળ0 &'થિત ધાર0ને ઘષ�ણમા ં�યય થતો પાવર શોધો.ઘષ�ણાકં 0.05 છે. 

          (ક) AદાAદા �કાુ ુ રની ગીયર Isનની યાદ0 બનાવી તેઓ પૈક0 ગમે તે એક                       (4)  

              આZિત દોર0 સમ,વો 

�T-3  (અ) AદાAદા �કારના ંકમ અને ફોલોઅર આ)િત દોર0 સમ,વો     ુ ુ ;                                 (4)      

. 

         (બ) એક બuનળાકાર hvજનનોુ  wમણ`ણ�નો ડાયા@ામ ુ 1મીમી=૬00 Nm ઊભી ધર0 પર 

               અને 1મીમી=30 આડ0 ધર0 પર દોયy છે.hvજન Cવારા ઉzપo થતો ટોક� અને સરરા; શ 

               ટોક� વmચે આવેલા એર0યા એક છેડાથી શ{ કર0 અnWમે ુ ુ +52,-124,+92,-140,+85 

              -72 અને+107 મીમી2. જો hvજનની ગિત ૬૦૦ rpm અનેગિતની �લ વધઘટ ુ ± 1.5% થી       

                      વધતી   ન હોયતો 0.5 મીટર િ��યાવાળા Nલાય�હ0લn ંદળ શોધો   ુ                       (7) 

                                                   અથવા 

�T-3  (અ) Nલાય�હ0લ અને ગવન�ર નો તફાવત લખો                                             (4). 

          (બ)એક કમ નાઇફએજ ફોલોઅરને નીચે �માણે ગિત આપેછે; . 

                       આઉટ'Iોક કમના ં; ૬૦0 wમણ દર�યાન 

               ફોલોઅર કમના ં; ૩૦0 wમણ દર�યાન િવ�ામ &'થિતમા ં

               ફોલોઅર કમના ં; ૬૦0 wમણ દર�યાન �ળૂ&'થિતમા ં

               ફોલોઅર બાક0ના ં૨૧૦0 wમણ દર�યાન  િવ�ામ &'થિતમા ંછે. 

              ફોલોઅરનો 'Iોક ૪૦મીમી અને કમની લ�તમ િ��યા; ુ ૫૦મીમી છે.ફોલોઅર 

               �િનફોમ� વેલોસીટ0થી આઉટ'Iોક અનેુ ર0ટન�'Iોક  દર�યાન ગિત કરછે; . 

              ફોલોઅરની ધર0 કમની ધર0માથંી પસાર થાય છે; .જ{ર0 કમ �ોફાઇલ દોરોુ ; .        (7)         
 

**********      

 


